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Document-grounded QA
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MultiDoc2Dial: Modeling Dialogues Grounded
in Multiple Documents[Song Feng, et al., 2021]
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[Doc-1] [Doc-2]
[Seg-1] UL: I need help with SSDI. I heard that it could benefit Home > Disability Benefits > Family. Home > Benefit Planner > Credits
latives too. [ am i 50s. . siret : ] ) ]
my, reaves 100. Jamin Iy o1 } The Basics about Disability Benefits Social Security Credits
A2: Yes SSDI pays benefits to you S =
and family members if you are insured. | "~ _ Social Security Disability Insurance (SSDI)
e |1 program pays benefits to you and certain
g0 0 R famlly members if you are
[Seg-2] A3: Do you know if you are “insured™? >y " insured " P *+. | Number of Credit Needed for Disability Benefits
U4: Could you tell me more about it? e ——— =
L . il - Srr oyt IR E——— . 4 - 30 years or older - In general, you must have
AS5: We measure it in “work credits™. To be eligible for Benefits For Your Spouse=-=-=-""" 2 [ atleast 20 credits in the 10-year period )
disability benefits, you must meet a recent work test. 1ble el 2 \immediately before you become disabled.¢#
U6: How many credits do I need to get the benefit? d Jhemniz oA = RS
A7 Since vou are:over 31-years old: you must have L 5 o — — shrement i Number of Credit Needed for Retirement Benefits
: y . ) . . e The qualifying member could
at least 20 credits in the 10-year period ... Yeceive up to 50% of your benefit.¢
[Seg-3] u8: OK. My wife is currently unemployed. I want to K o 3 [Doc-3]
know what benefit she gets from me. P Benefit For YourChlickan Home >  Benefit Planner > Online
A9: The qualifying member could receive ¢ \J Access Your Benefit Information Online
up to 50% of your benefit. Qualtfication ’ .
€ TE W oL b SIQH up a new account
[Seg-4] U10: hmm, I haven't checked my SSA online account for ~Be 4 3
long time Could you remind me where to start? . . 4 Recover your usemame and oagsword s
A11: Do youplan toapply online? If 0, f = = e b e c cmcuimec ot con oo | If you can't log in your account, you can MI out this 3
you can follow the link to fill out an application form 2 2 18 Id disabled from a disability that > form '0 recover your account \nformf}lon -

Figure 1: A sample goal-oriented dialogue (on the left) that is grounded in three relevant documents (on the right).
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Distilling Knowledge from Reader to Retriever
for Question Answering[Gautier lzacard, Edouard Grave, 2020]
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Supervised Cross-Attention

e Transformer T+X0A QIAEHE Eoff QIACEl REHO| Q&x= C|ALI
Cross-AttentionOf| A C|A Q] Self-Attention 3 He} SXH

Q = WqH,K = WerV = WUX

exp(a; ;
;= QK;, @ ;= plasy)
, , Zm eXp(“i,m)

0, =W, Z a@;jVij
J

M2tM, o= CI2AE7) Q1 AGo| &3S HotLt &= g X|of CHs 75 X|of of <
Referencel]| sli=sl= E20] Clis =

GroundingS M &

= "10

rlo

7t X7t A AR =& Attention

KSC 2022



Supervised Cross Attention
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Supervised Cross Attention
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- =M ZM D2 RoBERTa base 7|8t DPR X & A8
- Q1AM+ Query?t Document?} L] QIAHE S/ 5= Shared-
encoderE H&
- Q1A E Query?l DocumetE HE LHHZ Soff FAHE A4t
sim(q,d) = EQ(q)TED(d)
- E2|"Z BH2 RoBERTa base 7|4t Cross-Encoder tXE A&
+ Query® DocumentS 2, QI3AH E T <cs>EZ2| U= Sl
FAHE AL

Retriever  50.44% 78.05% 85.34% 61.09%
Reranker 62.46% 82.74% 89.07% 70.46%
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__Model | __F1___| Sacrebleu | Meteor | _Rouge _

Baseline 44.83% 28.89% 45.20% 42.63%
+ SCA 46.18% 30.48% 46.27% 43.98%
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